
AEP

746 × 9 ∗∗∗ 423 × 67
936 ÷ 8 ∗∗∗ 8685 ÷ 8 ∗∗∗ 325 ÷ 5

2,52 − 0,39 − 2,9 − 2 − 3,01 − 22,01
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3 𝑚 − 66 𝑚𝑚 = 𝑑𝑚

41 𝑘𝑚94 ℎ𝑚 = 𝑑𝑎𝑚

3 𝑞 = 𝑘𝑔

852 𝑚2 = 85200

72 ℎ𝑚² = 7200

7 𝑡 2,2 ℎ𝑔 = 7000,22

…………………

…………………

…………………

…………………

…………………

…………………

3cm

6cm 2cm

8

7
−
3

7
∗∗∗

6

5
−
2

3
∗∗∗

8

15
−
1

2



AEP

746 × 9 ∗∗∗ 423 × 67 ∗∗∗ 936 ÷ 8 ∗∗∗ 8685 ÷ 8 ∗∗∗ 325 ÷ 5

𝟐𝟐, 𝟎𝟏 > 𝟑, 𝟎𝟏 > 𝟐, 𝟗 > 𝟐, 𝟓𝟐 > 𝟐 > 𝟎, 𝟑𝟗
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3 𝑚 − 66 𝑚𝑚 = 𝑑𝑚

41 𝑘𝑚94 ℎ𝑚 = 𝑑𝑎𝑚

3 𝑞 = 𝑘𝑔

852 𝑚2 = 85200

72 ℎ𝑚² = 7200

7 𝑡 2,2 ℎ𝑔 = 7000,22
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